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Even solutions: 

ψeven =
ψI(x) = Aekx x ≤ − a
ψII(x) = B(ekx + e−kx) − a ≤ x ≤ a
ψIII(x) = Ae−kx x ≥ a

 
And impose that , which only holds if  B=C

ψII(x) = Bekx + Ce−kx − a < x < a
ψII(−x) = ψII(x)

At a point where the potential is infinite we have: 
Δ ( dψ

dx ) ≡
dψ
dx +

−
dψ
dx −
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ψ(a)
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Odd solutions: 

ψodd =
ψI(x) = Aekx x ≤ − a
ψII(x) = B(ekx − e−kx) − a ≤ x ≤ a
ψIII(x) = − Ae−kx x ≥ a

 
And impose that , which only holds if   

 

ψII(x) = Bekx + Ce−kx − a < x < a
ψII(−x) = − ψII(x) C = − B

Bekx + Ce−kx = − (Be−kx + Cekx)

At a point where the potential is infinite we have: 
Δ ( dψ

dx ) ≡
dψ
dx +

−
dψ
dx −

= −
2mα
ℏ2

ψ(a)

Fund. Thm. Int Calc (FTIC): 

∫
b
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df
dx

dx = f(b) − f(a)

Δ ( dψ
dx ) ≡

dψ
dx +

−
dψ
dx −

= ∫
+

−
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